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Knowing er

Let o' = é@? where « is the polarizability

and d is the dipole distance in micrometers in DDSCAT.
— :L%:o/ — e—1=d(e+2) = e—1=dade+2a
— ¢c=0de+2d +1 = e—o/e=/20/—|—1

— (l—0a) =20 +1 = e= 22+

1—o

Knowing that o’ is complex, let o’ = a + ib
2(a+ib)+1 2(a+ib)+1 1—a+ib

— €= 1—(a+ib) — €= T=(atib) 1—atib |
— o= BRI — (= Cenpe
= 2(a+z‘b)—2a(a4(rfk_>)$22fb(3+ib)+1—a,+7:b

e — 2a—|—27jb—2a2—%i’a;b;)—giaé)Q—ZbQ—f—l—a—l—ib

e — a—2&(xi:3>22_|—_|—b12—|—3ib

Knowing that € is complex, let € = ¢ 4 2d

ot id = et

— Cc = a_(lzfz)_ff;jl and d = (1_52+b2

— = 2O and d = 25



